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26) ]I (x' +cosx+tan’ x)dx wrEm B

-%
(A) O (B) 2

PS890(01) >




G- 706

i l'gi'ﬂi
27) _[sin"'::ms'.nka
(A) O (B) 2
(C) -2 (D) 3
- cos x
dx
" _;LJsinx+Jms: k)
o
(A) 0 ® -
i g
(C) 7 (D} 2
29) [x'e” dx s dmi
| 1
A) 3¢ +C B) ze'+C
1, 1
(C) 5¢ +C (D) EE +C
30) TrEer )F =12x 3 T afire | fif s dees @)
(A) 24 (B) 12
(C) 18 (D) 30
31) WMo+ =6+ y=4# i or e = sEw
(A) 4(n-1) (B) Bm-4
(C) 4({rn-—4) (D) 4(x=2)
PS890(01) 9 (PT.0.)



32) dndgw 07 + 47 = 36 9 o g gwe §

33)

34)

15)

(A) 12x (B) 36m

(C) 6m D) T2n

B L B :n.'ﬂ}f 2y=x"logx T BHEERCH T (LF.)%:

-
dx
(A) € (B) »

(C) & D) x

MET T .i";"*:,l.*_-":mmmmi:
de 1+

(A) tan”'y=tan'x+C
(B) sin!y=sin'x+C
(C) logph~+ll=log|l+x|+C

(D) cos'y=cosx+C

PS890(01) 10

G - 706
TF F




G - 706

36) wfEm 5; - 42k % e o v A, Fem ofam g g % FH
t:

16 -

40 . '8
foooe k
N T TR T

(B) 40/ -8j+16k

4- 8 - l6;
{C] El_ﬁj+ﬁk
(D) ¥ A =i T

37) o G vmmEmwEW R o (F-a)(E+a)=8.M |¥| ¥
(A) 4 (B) 3
© 7 (D) ¥ @ g

38) ufR |d|=10,|b|=2 "W G.b =12, |dxbh | FAAEW:
(A) 3 (B) 10

(C) 16 D) 14

39) Py dema el wfm G5+ jrak M p=i—jriTW

& W ¥, I8 AR S e g
(A) J21 (B) 42
© Ja2 D) 21
PS890{01) 11 (PT.0.)
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40) ERm =it jrkmnb=i-j+h wdamam et W
A sin” % B c:ug"[—--!-
(242
ey [T] (D) 3 & g

41) P(Fek)+j(ixk)+k-(ix ) mMmAY:

(A) © (B) -1
(C) 1 (D) 3
42) ’RITI;I=%=I: 3 EEAd 10x + 2y — 1z =3 Fdmm
=R
A ﬂﬂd'ﬁ' sin”' 2
(A) 21 (B) 21
. af B 4 B
o) (Y

43) Y- 3w wen g (2, 3, 4) @ e a2

-2 y-3 z-4
o i

¥=2. ¥+3 14
0 | ]

(B}

x+2 y+3 z+4
1 0 1

(C)

x—2 y=-3 z-4
0 | 0

(D)

PS890(01) i
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44) FrEmaEl 2o+ 3y +dr=4 A dx+ Gy + Bz~ 2 TR gh T

2 l
® 75 ® T
2
© I (D) = & =i =l

45) Frfafes s B @ 2oty <10, x+3p <15, 5, p 208
Frurifen weimm g o = 7 2 (0, 0), (5, 0), (3, 4) 3R(0, 5) B
mqux-bpg.r,ﬁ F,q}ﬂ,pﬂq#hﬁ“ﬁhﬂﬁm
oftay fem w2 @ stftrsam (3, 4) 3R (0, 5) 31 @ afEw

g
(A) g=p (B) g=12p
(C) g=3p (D) p=3q

46) Yo i & U % T WA 2 = 6x + 3y ¥ 3R 3o Hifte
TvE 7 TN & S g % P W (2, 72), (15, 20)

3 (40, 15) &,  Z ® =g = fig W
g

(A (2,7 - {(B) (15, 20)

(C) (40, 15) (D) (0, 0)

47) et & o ¥ fo s2va e & de g v ol Hi
T I TR |

(A) W TUEEH WA WA g
(B) T =gAR W U
(C) wgwm 3 =g ZH W T g

(D) e @ == § | v ot 5= wre =l gm

PS890(01) 13 (PT.0.)



48) af2 A sinB %ﬁﬂmﬂfk AcBaunPB)=0mBadd

wi E

) . P(B) .
(A) P(AB) P(A) (B) P(AB)<P(A)
(C) P{(A/B)2P(A) (D) ¥ A =g =

49) v o R 7 i e %iimimﬁiﬂ#mﬁﬁ

e B i #
i [4Y 1 4Y'1
(A) Cn[;} 3 (B) [;)g
4y
(©) 5[;] (D) % & wrf e

50) v uwgfers w1 X % wigwm w2 S fw mn )

XJ10|11]2 |3 |4]|5]| 6] 7

P(X) 0| & |2k | 2k | 3k | B | 2P | T+

MEwm AR
(A) =1 {B) 1
1 : 1
(C) 10 (D) BT
PS890{01) 14
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050 (H)

(MARCH/APRIL 2022)
(SCIENCE STREAM)
(CLASS - XII)

(Part - B)

Time : 2 Hours| [Maximum Marks : 50
T

1) weeres o e el

2) wETAH Part-BAdRAam g1 827 wm

3) et e sREmd § i v faem 8 we e RA W E)

4) i sin o i e g g §)

5y 7 farem @ @ w T

6) Wl = T waeEn i)

7)  uft wed gen # W e 3 mive (Log Table) % 3aam & sgeed 4 =i

&
§) Y dume & wR d e T W T S|

firam - A

m R ww w1 @ 12 ¥ * Rl 8wl W oam e (R we
# 2 3w 1) [16]
1) tan” il ],—3—f{x-:£ I FIETTH T W S i) [2]

|—sinx 2 2
412, o3 36 2]
2) fag Fifem &R cos 5 sin! Ssin o

3)  weEE Wi S fife af S (o, 5] 3 f(x) = x* —5x-3x, Wl a = |
b=3811 (c)=0%fmc e (1, 3) % ymAfm [2]
4) ﬁmﬂﬁmimﬁjf'ﬂmmﬂmﬁrﬁm [2]
PS890(01) 15 (RT.Q0)



5)

6)

7)

8)

9)

10)

11)

12)

QEEY =, Ty = x +2 UF X- 38§ o g w deee wa fifem)

TR SR H g9 o + 37 = 32,y =« v X- 29 R R deem T
i)

TR flx) = — 2-9x-12¢c+1 B, 7t Firrll e meimm @ wremm @ 3w s
i)

Ty R ARw 20— j 4k, 7 -3) -5k 9 3 - 4] - 4f vw T fgm §
ol & o waA R

1-x Ty-14 z-3
p ®1 WA wm wifme mis tw ;nﬂ"'zp =:2 i

7=Tx y-5 b-z .
R TR i il

Al x4y + 2= 1 3l 2x + 3y + 4z = 5 % ofireig v & S T TR T AR
x =y +z= () W FwE W w1 adem wm S

ﬂﬂamm#nﬁmﬁaiﬂﬁgﬁmﬁmﬁlﬁmﬁ 10 =t 3 & =
T4 § At ww el wen el T 8 I Wi wwm i

a3 o ware fawds =i 10 =0 3owen o & A v fom e, T ol
AR

PS890(01) 16
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[2]

2]
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féram - B

m i R oo w13 @ 21 F | fll 6 Wl W T dfm) (T ww
CIER- R ) [18]

13) mAERmEE N o R F(x) =4+ 12x +15 gm it s v 3 fog
S fE £ N S, S, f w1 ufow 3, sgeeavia §1 1 = s o e

Hifu) [3]
6 =2 2
14) @mge -2 3 -1 | = v wwiim smegg @ o faen wofim anegy &
L2 -1 3
drEe & v & wr i) 131
15) Pr=fftas sw=p = g oa fifem) I3]
0.3
A=|1 2 3
31 1
dl
16) 'ﬂﬁx=a[mst+!5inﬂ37ﬂy=a{3inf—lmﬂ},ﬂF}rmﬂﬁlﬂ 13]
17) FEy=x +2x + 6 5 HfueE & wdmm g SR @+ 14y +4=0
o T 131

18) W W G=i4+d4)+2f, B=3i-2j+7k ol E=21-j+4k. o T
wfen 4 s S & o b FHimEaR R c.d=15. [3]

19) 3 fig % i s shifeg e figadi (3, -4, -5) 3t (2, -3, 1) A R =l
T, WA v+ v+ oz = 7 % O S § [3]

20) = faft | e awen =t S
Py wamil o s
7= 3x + Oy w1 A 2wl mR Fw Fif)
x+3y<60, x+y210,x<y, x20,y20 3]

PS890{01) 17 (P.T.O.)
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21) v wwwE § A 3R B F uvin e §) od fre @ om e § e s
w1 60% TIfA A 3R 40% wyia B g e #) oess sfifem wfm A =
2% 3wt B = 1% Teaven o B) ol o sraea = oS e v w
# 3R 78 & A T e 8 o T A, A A T F weie B gmaR e

& miftrsm == g7 [3]
firam - C
B B uwm waiw 22 @ 27 ¥ | el 4 el = oo dRm (R v e
% 49w F) [16]
1 0 2
22) uﬁu.=[u 2 || tifegdfmfs A'-6A+TA+2I=0. 14
2 0 3

l+a 1 I ey
1 1+b =#b=[l+"_+};+_]. [4]
1

23) iz fn a c
1 I+
24) aRy=(tan'xy A EMiORE 2+ 1Py, + 2 (2 + 1)y, =20 [4]
25) firg Fiftm & vw R frem & @ % s st ses & e & S
%ilﬁmmﬁmﬂﬁql [4]
2 I S5x+3 2 £ 4
B P T " “
27) e i & fg R g ofee W dge w0 e e e R (4]
{I}+I]+I+l}ﬁ=EII+IL}?=1‘ﬂﬁI=ﬂ-
dx
> >
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This Question Paper contains 20 printed pages. -
(Part - A & Part - B R el Hz v el

SLNo.

(CLASS - XII)
Part-A : Time : 1 Hour/ Marks : 50 0 1

Part -B: Time : 2 Hours / Marks : 50

Hid aden OMR 2ileni
050 {E) ug Sreid 3 8.
Set No. of Question Paper,
(MARCH/APRIL 2022) eircle against which is to be|
(SCIENCE STREAM) darken in OMR sheet.

(Part - A)

Time : 1 Hour] [Maximum Marks : 50
Instructions :

1)

There are 50 objective type (M.C.().) questions in Part - A and all questions
are compulsory.

2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

3) Read each question carefully, select proper alternative and answer in the
O.M.R. sheet.

4) The OMR Sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O and (D) ©O. Darken the
circle @ of the correct answer with ball-pen.

5) Rough work is to be done in the space provided for this purpose in the Test
Booklet only.

6)  Set No. of Question Paper printed on the upper- most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

7} Use of simple calenlator and log table is allowed, if required.

8) Notations used in this question paper have proper meaning.

1) Iff:R—Rbegivenby fix)=(3-x")",thenfo (fof)(x)is| Roush Work

(A} X
(B) »

(C) x

(o) (3-x")"

PS890(01) 1 G-706 (PT.O)



1)

3

4)

PS890(01)

Let R be the relation in the set {1, 2, 3} given by
R={ (1, 1),(2, 2), (3, 3) }. Choose the correct answer.

(A) Risanequivalence relation
(B) R is reflexive and symmetric but not transitive
(C) R is reflexive and transitive but not symmetric

(D) R issymmetric and transitive but not reflexive

Consider a binary operation = on N defined as g « b= |a - b,
Choose the correct answer.

{A) =+ isboth associative and commutative
(B) *is commutative but not associative
(C) = isassociative but not commutative

{D} + is neither commutative nor associative

Iftan™'x =y, then

(A) O=y<x

(B) =

B3| 5

4
EyE—
2

(C) O<zyen

G - 706
Rough Work




5)

6)

7)

§)

PS8901)

The value of sin™ [siu T?’I] is -

7 7
a) — ®) =
0 D) +
mwajumfmt"{—ﬁ}—tm"ﬁ is :
W -3 ®) 0
b3

© 3 D) =
cos (tan™'x), [x| < 1 is equal to

I ]
W = o Y P
c X X
© == i

cosa sing

sing -cosa
IfA =|: ]mdﬁ..+ﬁ'=l,ﬂ1mwlu:ufni:& -

T T
(A) 6 (B) 3
in
C) = (D} o
3

G- 706
Bough Work

(PT.0.)



9)

10)

11)

12)

PS890(01)

1 0 2|Ix
If[x =5 -1]({0 2 1| 4|=0, then value ofxis
2 0 3|1
(A) 0 B) =243
(€) 443 D 1643

-2
]fﬁ=[i ) ].menu'tm:isvatuﬂum" 7

L 2
I 2 16 16
) [4 s] 14 8
16 16
L 1
6 8 ‘
(C) : | (D) Does not exist
4 2

If A is square matrix such that A=A, then (1 + A Y-8A is cqual
to .

(A) A B I-A
(C) 1 (D) 3A

I -cos® =1 71

Let A =| cos@ 1 —cos wher:ﬂ{ﬂ{%.Thﬂn
1 cosf |

(AY det(A)=0 (B) det{A)e(2,90)

(C) detiA)=(2,4) (D) det(A) <[2.4]

G - 706
Rough Work
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13) Let A be a nonsingular square matrix of order 3x3, Then| Rough Work

ladj A is equal 1o
(A) A (B) IAF
(C) |AT @) 3A|

14) Ifarcaoftriangle is 4 sq. units with vertices (-2, (), (0, 4) and

(0, k), then & is
(A) 0 (B) -8
(C) 0,8 Dy 0,-8
kcosx . T
x=2x' - I#E
15) If flx)= . for which value of k, f is
3, if x==
2
' T
continuous at X =—,
2
(A) 6 (B) 3
3
(C) 3 D) 0

16) What is differentiation of cos™ (sin x) with respect to x?

(A) 1 (B) -1
T 4
=i il
(C) 3 (D) 5

PS890(01) 5 (RT.0.)



17)

18)

19)

Ife’ (x+1) =1, then what s the value nf—i?f?

w {2) iy

(© —E] D)

B|&

The point on the curve x* = 2y which is nearest to the point
(0, 5) is

A (242.4)
® (2v2.0)
(©) [—24’5,4]

D) (-2v2.0)

The slope of the tangent to the curve x = ¢+ 3-8, y= 2 -2t -5
a1 the point (2, -1} is

7
A -2 (B)

| =1

6
© 3 ® -3

PSR90(01) 6
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20) The approximate change in the volume of a cube of side x metres| Rough Work
caused by increasing the side by 3% is

(A) 0.06 ¢ m’ (B) 0.6xm®
€ 0.095m’ (D) 0.9 m

21) The interval in which y =* e is increasing is

(A) (=o0,wm) B) (-2,0)

(C) (2, =) (D) (0,2)
22) Iainx.:i::_

(A) |1 (B) 2

© 0 D) -2

|
dx

23) IJ[.!:-—I}{I—E} = =L,

(A) Ing[x —%)—w.l'x‘ ~3x+2
(B) logix oy =3x+ l-':l

,
() log x—%]+~..'f ~3x+2

b

i

(D) log x+%]+q.|':’—3x+z
\

PS890(01) 7 (P.T.O.)



24) [e" sin(4x-5)dx= +

A) 25

E]

C.

2 [3sin{4x - 5)+4cos(4x - 5)]

(B) -—‘[ 3cos(dx - 5) - dsin(4x - 5)]

235

3

(C) :—;[EEinl::dr.t ~5)~dcos(dx - 3)]

ir

(D) ;—5[45in{4r ~5)-3cos(d4x—5)]

25) [ +dx+l de= +C.
2
(A) x; -J'x*+4x+1+%1ng

(B) x;1ﬁ11+4x+1—r§1¢1g
(C) %zu'f +4x+1-9log

x+2+4/x" +4x 41
x+1+m

x+2+4x +4x+1

(D) IT'F%J.E +d4x+1+9log

x+2+4x" +4x 41

26) The value of ? {x" + cosx+tan® x)dx is

-%
(A) 0
(C) =

PS890{01)

(B) 2
(D) 1

G - T06
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1 Rough Work
27) fain’xms‘xih
(A) O (B) 2
(€) -2 (D) 3
28) mvalmnf"f = o S S
¢J5mx+-\|lrcm.t e
T
(A) 0 (B) Iy
T T
(C) i (D) 12
29) [x'e” dx equals
A le‘l +C le-"1+l:.':
&) 3 ®) 3
C le"n': D le"I+E
© 3 ®) 3
30) The area of the parabola 3* =12x bounded by its latus rectum
is
(A) 24 (B 12
(C) 18 (D) 30
31) Smaller area enclosed by the circle x* + 37 = 16 and the line
xty=4is
(A) 4(x-1) (B) %n -4
(C) 4(x-4) (D) 4(x-2)
PS890(01) B (P.T.0.)
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32) The area of the region bounded by the ellipse 9x* + 4y = 36| Rough Work

18
(A) 2= (B) 36m
(C) om (D) 72n

33) The order and degree of the differential equation

1 F
I *[%J =1f% respectively are

(A) 1,2 B) 2,2

Q) 2,1 (D) 4,2

34) The integrating factor of the differential equation

dy

x—+2y=x"logx j
% ¥ g£X 15

(A) & B)
(C) & (D) x

35) The general solution of the differential equation @ _l+y
de 1+
is
(A) tan” y=tan™' x+C
(B) sin”' y=sin!x+C

(C) log p*+1|=log|l+x%+C

(D) cos'y=cos'x+C

PS390§01) 10
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36) The vector in the direction of vector 5{ - j+2k which has Sl Wi
magnitude 8 units is
R TR T S T
(B) 40i -8 +16k
o A1ty e
© 3730/ %
(I3} None

37) If @ is unit vector and (X =a)(x+a)=8,then | x| is :
(A) 4 (B) 3
<y 7 (D) MNone

38) If|dl=10,|b|=2anda-b =12, then value of | Gxb | is ;
(A) 5 B) 10
() 16 (D) 14

39) Theareaofa parallelogram whose adjacent sides are given by
thﬁ?ﬁﬂﬂﬁ&=3f+j+4ﬁﬂﬂﬁ5=f—j+ii5
(A 21 (B) 42
(C) 42 (D) 21

PS890(01) 1 (PT.0.)
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40) The angle ‘8" between the vectors G=i+ j+#& and L ek
boi-jekia
4 242 S 1
o) el
e ]
', G 3 (D) None ofthe above

41) The value of 7 -(jxk)+ j-(I xk)+ k(7% j) is

(A) 0 B) -1
() 1 (D) 3

+1 =
42) The angle between the line 55—= =2—3 and the plane

10x+2y—11z=3is

il |

o i(2) i
i 21 by [E]

H.n,.[ 22 ] A 8
R o o)

43) The equation of a line parallel to Y- axis and passing through
the point (2, 3, 4) is :
x—2 y=3 z-4
1 0 |

(A)

x-2 y+3 z-4
o R e

x+2d y+3 z+4
1 0 1

(€)

x=2 y=-3 z-¥
0 TGEE

(D)

PSBO0(01) 12
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44) Distance between the two planes 2x + 3y + 4z =4 and Rough Work
dx+bopt+8z=121s

2 1
® T ® 75
2
(C) 0 (D) None

45) The corner poinis of the feasible region determined by the
following system of linear inequalities 2x+y =10, x+3y =15,
x,p= 0 are (0, 0, (5, 0), (3, 4) and (0, 5). Let Z = gx + py
where p, g = 0, condition on p and g so that the maximum of
Z ocecurs at both (3, 4) and (0, 5) is

(A) g=p (B) g=2p

(C) g=3p (D) p=3q

46) The comer points of feasible region determined by the system
of linear constraints are (2, 72), (15, 20), (40, 153). Let
Z = fix + 3y be the objective function. Minimum of £ occurs at

(A) (2,72) (B) (15, 20)
(C) (40, 15) (D) (0, 0)

47) Iffora linear programming problem feasible region is bounded,
then the objective function has

(A) only maximum value
{B) only minimum value
(C) both maximum and minimum value

(D) neither maximum nor minimum value

PS890(01) 13 (P.T.0.)




48)

49)

50)

IfAand B are two events such that A = B and P(B) # 0, then
which of the following is correct?

- riH)
(A} P(A/B) P(A) (B) P(A/B)<P(A)
(C) P(A/B)2P(A) (D) None of these

1
The probability that a student is not a swimmer is — then the

5
probability that out of five students, four are swimmers
is

4Y 1 [4]‘1
EE Sl o 2.5 -
(A) .[5] 5 (B) 5)3
4 ]
(C) E[EJ (D) MNone of these

A random variable X has the following probability distribution:

X|ojlL|2 |3 | 41586 | 7

PCO| 0| & |26 | 2k |3k | £ | 28 | 7k

Then the value of kis

(A) =1 B) 1
© T & =55
PS890(01) “
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050 (E)
(MARCH/APRIL 2022)

(SCIENCESTREAM)
(CLASS - XII)

(Part - B)

Time : 2 Hours| [Maximum Marks : 50
Instructions ;

1} Write in a clear legible handwriting.

2) There are three sections in Part - B of the question paper and total 1 to 27
questions are there.

3)  All the Sections are compulsory and general options are given in each Section.
4) The numbers at right side represent the marks of the question.

%)  Start new section on new page.

6) Maintain sequence.

7)  Use of simple calculator and log table is allowed, if required.
8) Use the graph paper to solve the problem of L.F.

SECTION-A

Answer any eight questions from guestion number 1 to 12, (Each of 2 marks) [16]

)| cos : 3
1) Express tan [ . :i:x]. L g in the simplest form. 12]
2) Provethat cos™ E +sgin™ E:Ein" E 12]
13 65

3)  Verify Mean Value Theorem if f(x) = x* —5x*-3x in the interval [a, b], where

a=1and b=3, Find all ¢ € (1, 3) for which /" (c)=0. 12]
4) Evaluate _[E’ @x as the limit of a sum, 2]
]
PS890(01) 15 (P.T.O.)



5)

6)

7)

8)

2

10)

11)

12)

PS890(01)

G- T06

Find the area of the region enclosed by the parabola x* = y, the line y=x +2
and the X- axis.

Find the area of the region in the first quadrant enclosed by the X- axis, the
line y=x and the circle x* + y* = 32.

Find the intervals in which the function fgiven by f{x) =— 2°-9x-12x+1 is
increasing or decreasing.

Show that the vectors 27— j+ k.7 -3/ -5k and 3j—4j— 4k form the
vertices of a right angled triangle.

J ; l-x 7y=-14 =13
Find the values of p so that the lines et 3p RS and

T=7%. y=35 =2 |
3 E ek are at right angles.

Find the cquation of the plane through the line of intersection of the planes
x+y+z=1and 2x + 3y + 4z = § which iz perpendicular to the plane
z—=ytr={,

Two balls are drawn at random with replacement from a box containing 10

black and & red balls. Find the probability that one of them is black and other
1s red.

If a fair coin is tossed 10 times, find the probability of exactly six heads
Hppess,

16
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12]

12]

2]

2]

12]

2]



SECTION-B

B Answer any six questions from question number 13 to 21. (Each of 3 marks) [18]

13)

14)

15)

16)

17

18)

19)

20)

Let /' N — R be a function defined as f(x) = 4x* + 12x +15 show that
f:N— 5, where 5 in the range of £, is invertible. Find the inverse of f.

6 -2 2
-2 3 =l
2 -1 3

Express the matrix as the sum of a symmetric and a skew

symmetric matrix.

Obtain the inverse of the following matrix.

;T e
A= -3
Bl

dy
-’

Ifx=a (cos t+ ¢ sin ¢) and y = a (sin { - 1 cos ¢), find

Find the equation of the normal to the curve y=x" + 2x + 6 which are parallel
tothe linex+ 14y + 4 =0,

Letd=7+4]+2k, b=3i-2j+7k and & = 2] - j+ 4k Find avector d
which is perpendicular toboth @ and b and &.d =15.

Find the coordinates of the point where the line through (3, —4, -5) and
(2.-3, Dcrosses the plane 2x +y +z="7. '

Solve the following problem graphically :
Minimise and Maximise

Z=3x+ 9

Subject to the constraints :

v+3psel, x+y210, x5y, x20,¥20

&)

3]

[3]

13]

131

(3]

131
131
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21) A factory has two machines A and B. Past record shows that machine A
produced 60% of the items of output and machine B produced 40% of the
items. Further, 2% of the items produced by machine A and 1% produced by
machine B were defective. All the items are put into one stockpile and then
one item is chosen at random from this and is found to be defective. What is

the probability that it was produced by machine B? 13]
SECTION-C
M Answerany four questions from question number 22 to 27. (Each of 4 marks) [16]
1 O 2
22) If A=|0 2 1|, provethat A’~6A*+TA+21=0. [4]
2.0 3
I+ 1 1
y veb 1 bl lelalk [4]
23) Show that = e et
1 1 l1+¢
24) 1fy=(tan"' x)?, show that (*+ 1Py, + 2x (P + 1)y, = 2. [4]

25) Show that the height of the cylinder of maximum volume that can be inscribed

2R
in a sphere of radius R is E Also find the maximum volume. 14]

Sx+3 [4\]

26) Find jmﬂ* :

27) Find the particular solution of the differential equation: [4]

dy

[I!+.II+I+|:|E=11']+I'; y=lwhenx=0.

VUL
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1)
2)
3)
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6)

7)
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1)

54 Wil il € B9 % s
(A) A

(B) S-fdA
(C) il

(D) eyl
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2) Al B e M2 s bRl Gt B s sl

(A) ldbie
(B) e
(C) olhauss

(D) 25l

3) el b Falaedy ddus 82
(A) ~lieie - 2, Al - 6
(B) Al 6,6
(C) ~Ael - &

(D) A

4) el weDE 2l 57

(A) CH,= C—CH=CH,
Cl

(B) CF,=LF,
(C) CH,=CH-CN

(D) CH,=CH-CI
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5)

6)

7

§)

s 2l e yeu el 5y 9
(A) w2y

(B) #klA

(C) =ifEEx

(D) sl

AL 5L UsRHlL et VB B9
(A}

(B) gsidlers

(C) ety

(D) -l

54 Hellovet gl 59
(A) MnO
(B) Fe0O,
(C) €O,
(D) NaCl

P- usiat witleinss otdisien 58 o Glasul wisdl -#l7
(A) B

(B) As

(Cy Al

(D) G
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9) st Hellovet Braet ol 20241 el BRIl BRI 87
(A) AgCl
(B) Agl

(C) Aghr
(D) ZnS

10) 10% wiw NaOH it el gieveill el Seell adl?

(NaOH 4 =us={l4 50 = 40g mol™)
(A) 278 m

(B) 287m

(C) 2.5m

(D) 2.05m

11) 1| M 4ReuAL arell g Gesanlig dea k 447
(kb= 0.52 k kg mol™')
(A) 373.67
(B) 37835
(C) 100.52
(D) 105.2

12) #i Bz a6 Rl aBas- sl 59
(A) Bl + e
(B) sdlZish + SR
(C) [l 4+ Al
D) s wifs + well

UX619 (17) 4

G-707
2 s




G- 707
13) 2ot wRERRM s g B goum el «ud 89 W s

(A) 1MNaCl
(B) 1MFeCl,
(C) 1MBaCl,

(D) 1M %l

14) pH=1 =L gi=et 208 200l e didgiae Berse welng
AT TOL

(A) 0.059
(B) 0.0059
(C) 0.59

(Dy 59

15) 23 MnO, - Mn* i Regi se 52en 3 Bgaddl ovga w57

(A) 3 (B) 3
(C) 10 (D) 6

16) ozl cusson 58 wn uz wueuR 2wl 2l 7
(A) il 3eee 2 olaRg
(B) e
(C) ey wilars dalsgindl A

(D) Bt
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17) Goclusuedl w2 Gt wnis-l Asy 540 87 % s

(A) Mol LS
B s
(C) Mol'LS"

(D) Mol?L*§"!

18) Ink— % ezt 218l 1 B2l MY

Ez

 -£
B) &

{E:I —EJ:H.EE
[D} —IEEH?

19) clllAls 2Bl wi s Fe- s 59
(A) o zecud Elee 2
(B)  AFaileill wi-oued] il 8.
(C) o 2=cud Whddl 8.

(D) A = 2yl 1aaui vkt B,
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20) CO+H, 1, CH,OH «& [X] Gelus 54l 89 % sl
(A) Ni
(B) Cu
(C) CuZnO-Cr,0,
D) Pt

21) 4 wreula Wd 89
(A) GlER- oy
B) (Gl
(C) TiO,xa
(D) AsS,#Hd

22) i sl WRARA sell wA RN WEHY e S0 B9
(A) u-d - <y
(B) weudl - =y
(C) =iy = a
(D) =y - ueudl

23) il veps 58 57
(A) Riade
(B) g
(C) Hdsulz
(D) “isude
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24) 48 aide] s Sl fEs velell ug el s
(A) Ge
(B) Ga
(C) Si
(D) Sn

25) = Helioeetell AABson 2ell sl 89
(A) BiH,
(B} NH,
(C) ShH,
(D) PH,

26) sl Hellel ABIRs 2usik PRk 87
(A) XeOF,
(B) XeF,
(C) NeD,
(D) XeF,

27) el aiyed W YA 54 09
(A) CCINO,
(B) CICH,CH,SCH,CHCI
(C) CCLNH,
(D) cocl,
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28) clle-l Ruieret lreuwi 54 Grclel 3,
(A) SO,
(B) CL
© 0,
(D) KMnO,

29) Al U] s delisntedl gl s el 2R 59
(A) MnSO,
(B) CrCl,
(C) Ni(NO.),
(D) FeSO,

30) Al U5l 5y #sild et B9
(A) Zn
(B) Hg
{C) A
(D) Cu

31) K,MnO, -l # £4l 89
(A) sl
(B) ugel
(C) dldl

(D) «=

\ UX619 (17) 9
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32) [Co(C,0,), (H,0),] i e e eyl wells et faelus | 2 s
sl beell 59

(A) 24
(B) 346
(C) 324

(D) 16

33) [PtCl,(en),] 58 20Ezsa e 87
(A) =uudlszn
(B) clfids
(C) wsiallu

(D) clfifEs = wsially st

34) Grasoper 248lel wiz 54l wieiu Wl

(A) A<P
(B) A,=P
(C) A>P

D) AzP
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h W sl
35) 0 By 541 sl el 87
(A) e deuds
(B) “oidds deds
() Erudls dauds
(D) =eudlEs dauds
36) -l W5 58 g2 g2 uleu 69
(A) CHCI+CHCl _Naipba
(B) CHCI+CHCI _Mugwis
(€) CHEI+CHC Suyte
(D) CHCI+CHCI _teipda
37) Ui 2,3.4 - gdlas Brie sielddl 2hva dedl?
(A) 3
(B) 1
(C) 4
(D) 2
UX619 (17) it e
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38)

39}

40)

41)

DDT i B 2 Wi el 2w 2rgs? Bedl 57
(A) 29.6
(B) 2835
(C) 27.6
D) 27.5

s, afdloyeetl ol 2° vuesldla WA 89
(A) =Rzl

(B) ARl

() =Rl =R

(D) g =RHez

[hilei-u §ls =B < wiERa-el 58 A i 67

(A) “ll

(B)  eilEEiA
(C) “eotlds =g
(D) ARl

s, #iellovrte] GrsardPig - MREU el =ak 59

(A) Wil -1- e
(B} 2- Giauder Wi - 2 - »la
(C) “¥ert-1- 24
(D) o4eet - 2 - &
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42) Bwsuladsd w3 54 57

=CH-CHO
(A) 5

H,-CH,-CHO
(B) [5

C=C-CHO

(C)
~CH=CH-CHO
o O
43) 541 RIS pKa 2l 251 69

(A) CH,COCH

() CHCHCOOH

(C) CH,CO0H

(D) CH,CH,COOH

44) =i 2eleretll €A elupuds Whaedl Ay WA B9

(A) HCONH,
(B) CH,CH,CONH,
(C) CH,CONH,

(D) CH,CH,CH,CONH,
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43)

46)

[Rratolat ulbas a1 =it 28 b 52817
(A) CHNH,

(B) (CH)NH

(C) (CH,)\N

(D) A»AB -

ayzzmie Wil 5ol wBus e 89
(A) CuwHX
(B) CHCI,+NaOH

(€) CuX/HX
(D) Zn-Hg/HCI

B, - - A
é’ g L Wb 58 (e a9 Wl

47)
Yo 8§ 9
@) gl;w (B)
NH,
(C) [:;j D)
mﬂ'
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48) A3 UL s Dellelbads -ell?
(A) zeE
(B) ksl
(C) Heydis

(D) st

49) [ B, - weualds 4o s 89
(A) el
(B) [fsiGaa
(C) Eelsalia

(D) Waslles wFHs

50) & laulky gy 69
(A) A
B) T
(€) C

(D) U
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(MARCH/APRIL, 2022)
SCIENCE STREAM
(CLASS - XII)
(Part - B)
Time : 2 Hours[ [Maximum Marks : 50
UL L
1) ¥ Sy dq erddud sasd,
2) W eeeel oueB 3 Bow 8. A ga 1 el 27 3l il 8.
3) o v Bowt RBeud 8. s Bewnd wra Bsed il 8.
) waell ougll cuy-u vis d-u e euld 8.
5) sl Bewnt s Wi Wi awel
6) Maledl sl FMML @weL
7) Reudlall w3z weud ol el heyder v b 2uad Gelda 51 usil
Bewt - A
02wl wn dor 1ol 12 el Aun 8 welen G @l (R el 2 R B)
[16]
1) 3o ael AR amlbail sl
2) 5 SiFuuz usedl 20 Bz w2 Gwilsl 57 NINO,), AL st - Bgaydl
23] [Rgafious saml =usy, Sals G4 Ni o deq gm Rdlia 4l ?
(Ni o wewigelly 50 = 58.7 u)
3)  qesllsal 2 sy 923 sl G ygEdl gl
4)  Zr g YERsw 20l
5) [ uli Gesas g ==l
6) [Co(NH,), (NO,).] *8lgl-u Huszst £l
7 b il Al sl
8) swlide uda s3] el
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9)

10)
11)
12)

sl — g ~ el WifAs — OH 20yl vl yrn secll ulbail qoil

cibagan] o2 e Guala gl

w4l 6,6 il Hirldzell TUPAC w34 @uil
el neuesl sizd 47 du-u Guallon syl

Fleyst - B

B A wulan wn e 13 ol 21 widll sldue 6 wall- et ywel Guz avil,
(635 Wl 3 331 B) [18]

13)
14)
15)
16)
17)
18)

19)

| 20)

21)

CCP ¥ gt dretill el 531

apraesedl wlba w2 doriznis e iuliag s Wie 3 el
(e 7ottt Ceaaloiel] 2,

wieilgiagifzs AR, uepyfs AR el veedlls wiRs var gl
A1ttt et 3yl 2imel.

szl sl 2128 319 el cumBisal cul

sepedlads, wRzedleds »A ARz Fruda B wbuds 2wEHl Wil
Uil

kAl gl 53l

i) C,H.COOH+SOCL—

i) CHCOOH __@irsiwes

i 110
iii) CHCHCOOH+NH, _4
Wsedel ndl (200 et
~AlBgAl uizll gl b=
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22)
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16)

27)
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ittt 0,0205 °C el seil wied, dvedls vt w1l Bl Eols
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sitlersl vitiet Biesia 2uaR 2l k [Fe(H,0), ] 2-ietélu . s [Fe(CN), I
Wetzivst .
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(D) O B a §) Form we= w1 TR 95 51 39 e o e 9 | T (e)
AT i
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)
6) T wE w3 T e A & nd wg § e dm
7) s =i gan @ W Fewgete sk mitem (Log Table) & 3adim &1 sigwia 2 st
2l
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(B) wH*R
(C) =mafes
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2) e 122 = F R e apee w Toam g 27 T wH

(A) R
(B) TFda
(C) Sehemse

(D) @i

3) WA W TEes P e e
(A) FTEEA -2, AFHH -6
(B) 1EEH 6.6
(C) mEE-6

(D) #&d=

4) AT S UaReTE w91 7
{A) :':Hx='lﬂ-l.'3H=1:H1
|
(B) CF,=CF,

(C) CH,=CH-CN

(D) CH,=CH-ClI
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3)

b)

7)

8)

form s =1 WS W AR w37
(A) Tmém
(B) #H=
(C) Hferem
(D) wEwAE

#in fom wem w2 v @2
(A) Fwiva

(B) wEaraE

(C) wfrers

(D) st

i w1 diftrs FEdadE #e
(A) MnO
(B) FeO,
©) cro,
(D) NaCl

P-UER % e a9 & o e i sy saiiim ol &

=t #7
(A) B
(B) As
(C) Al
(D) Ga
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9)  wiw i e 3iR vigh 2t 9 gwim e
(A) AgCl
(B) Ag
(C) AgBr
(D} ZnS

10) 10% wiw NaOH & weita Rrera @i wiewerm free gefi?
(NaOH =1 smmoefra gemam 40g mol™ 21)
(A) 2.78m
(B) 2.87m
(C) 2.5m
(D) 2.05m

11) 1M gien & weim e = s B K eme
(kb=10.52 k kg mol™)
(A) 373.67
(B) 37835
(C) 100.52
(D) 105.2

12) =3 fowm vaee & Pram & uaess Fraem i 22
(A) UEER -+ i
(B) wrEM + TfEe
(C) Fonen + tfwita
(D) “mgigm s + W
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13) wom feaf 1 fan Prers = ooreen 2 wed afts g L]

(A) 1MNaCl
(B) 1MFeCl,

(C) 1MBaCl,
(D) 1 MM

14) pH=1 gz fawem % v g 1 fm [ g g w e
T v Em e

(A) 0.059
(B) 0.0059
(C) 0.59

(D) 39

15) 2F@mMnO @ M d s s S n R R I SR

ATIFEA O ?
(A) 5 (B) 3
(C) 10 D) 6

16) TEEzHE S e TE T SR e T 2T
(A) =T W = iR HE
(B) wma
(C) i T wreR oA A

(D) ==

UX619 {17) s (ET.0)




G- 707
17) faf =itz & sifufem & fw i R = o= =0 @ #me T &

(A) Mol 'S
(B) §°
(C) Mal'LS

(D) MolPL=5

18) Ink — — e 3 aneve w1 et e dme

=2 J03IR
Ea

(D)

19) itfoer siftrairem % fov & faems wem 12
(A) =e s o fafme = &)
(B) wftryiveo oo wm gt 2l
(C) =7 v § eFwni 3|
(D) o7 TEe HU[H WA & ®9 o Bem g gl

20) CO+H, i1, CH,OH 78 [X] s S @ 27
(A) Ni
(B) Cu
(C) CwZnO-Cr,0,

(D) Pt
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21) W WUTRRE AT Ee R T wE

(A) HRFR=g
(B) T
(C} TiO,®m

(D) AsS ®@F

22) sy wreige § it waeen s oftdm mea wAn: FE 32
(A) am -7\
(B) za-#m
(C) & -3
D) -

13) AT B SRR S A7
(A) Fozmge
(B) emma
(C) Wetwrge
(D) wfeamse

24) Tm am = fgEo sew v fafy & go o @ 2
(A) Ge
(B) Ga
(C) Si
() Sn
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25) Trm it i e TEE ST 27
(A) BiH,
(B) NH,
(C) SbH,
(D) PH,

26) e difes i difefe s Rt 2

(A) XeOF,
(B) XeF
(C) XeO,

(D) XeF

27) TR T AR iy
(A) CCLNO,
(B) CICH,CH,SCH.CHC!
(€) CCINH,

(D) cocl,

28) 3w @ ferfem faem o = oo e
(A) SO, (B) CI

© o, (D) KMnO,
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29) Fafafem d @ fem difs & ol ol & o= w8 ofes|  mem
iz

(A) MnSO,
(B) CrCl,
(C) Ni(NO,),
(D) FeSO,

30) B O | S e T e 27
(A) Zn

(B) Hg
(C) cd

(D) Cu

31) K MnO, ®m=ng?
(A) =t
(B) ten
(C) ®0

(D) =™

32) [Co(C,0,), (H,0),] 4 %Fa uw v Fi wefies i s
warasm e 27

(A) 234
(B) 3a6
(C) 334
(D) 13m6
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33) [PtCl, (en),] e wwmemm vam 22 T &

(A) IR
(B) =nfe
(C) gam

(D) et 3 gao g

34) 7= wwm (High Spin) ¥% % o & @ sy w6 37
(A) A,<P
(B) A,=P
(€) A>P

(D) A =P

X

35) O oz Fem wn = temE B2
(A) tfe e
(B) dators gwmge

(C) anhites e

(D) s o
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36) T A wi o gga-fedn sl e T ®E

(A) CHCI+CHC] ol gmeen,
(B) CH.Cl+CHCl Yol yomm
(C) CHCI+CHCI foqenym

(D) CHCI+CHCI o wmes

37) 994 2,34 T H wIgtel Sea o A e e e
(A) 3
(B) 1
(C) 4

(D) 2

38) DDT & fimm 3it aré s ) s w0 0 e
(A) 29,6
(B) 28.5
(C) 27,6

(D) 275
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39) fm oiftes & soags 4 2 tewigw fem 7 T T

(A) THREETEE
(B) Ui

(C) tfeds =
(D) vferm oz

40) Trtm @ wifE o % T sfewem #uhen 2 S8 &
T it e

(A) =R

(B) a=nifE=ia

(C) =itgm 3
(D) YE=

41) Frm Gt = wuars T R O we sfies gy
(A) N -1-3A
(B) 2-uférm wdm -2-is
(C) =3¢ -1-3im

(D) = -2-31=
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42) fa=raiegEs = Ah T g8 =0 1 T &

"H=CH-CH

CH,-CH,-CHO
(B)

C=C—CHO
(C)

CH,-CH=CH-CHO
(D) -
43) TR m pKaFma AT
(A) CH,COOH
(B) CHCHCOOH
(C) CH.COOH

(D) CH,CH.COOH

44) Form difivs B Fomm A sfufem oI SR 2
(A) HCONH,
(B) CH,CH,CONH,

(C) CH.CONH,

(D) CH,CH.CH,CONH,
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45) frmrl sfiredss foem e & oy srfefiem =me TF T

(A) CH,NH,
(B) (CH,).NH
(€) (CH)N
(D) A s BaFl
46) TR wfutra | S w0 s W I9g g e
(A) CuwHX
(B) CHCI, +NaOH
(C) CuX/HX

(D) Zn-Hg/HCl

NH,
47 @ ngﬂu TR suhea d wia I T At
T | faedt 27
™0

NH, ;
©) @ (D) @w
m 2
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48) = d A ¥R TieEEET TR T HE

(A) ==
(B) TATERIAA
(C) Hegeid
(D) Hper

49) Prefim B, @ vamaf am = 2
(A) A
(B) ffreiaem
(C) TrErwARE
(D) Tl o

50) = m Fufea o 27
(A) A
(B) T
© c

(D) U
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052 (H)

(MARCH/APRIL, 2022)
SCIENCE STREAM
(CLASS - XII)

(Part - B)
Time : 2 Hours] [Maximum Marks : 50
quamd
1) e e )
2) 7R E Part-BAdBEwamisvnem 1927w R
3) =it v s § | ot B A ma 2

4) =l i o & ot T T R
5) T fram 73 o @ el

6) Wl W WaATE wAEEn di |
7)  aft Tl g @ A Feageet 3R Mo (Log Table) & 3w 6 smed 4w 31

ram - A

m e Ry T 1| 12 F & gngen e ot s—mwl w T R
(e W 2-3% = 1) [16]
1) T 3rm 9w it ffin

2) Ni(NO,), ¥ v faerm % R sdtegs & da 5 ofegm &t am gafin w6 o
20 o e Fgmeaes fem o Ni @ el o S @ Rafm il (N
AT =EE =587 u)

3) nfoswa iR wtafrm f =R F oo e & 29 R
4) Zr umw Pigwm Teen)

5) Freamm sfufEn sem vl T

6) [Co(NH,), (NO.),] TUBgHEI" % SHras! i S ==
7)  aftEds i =R 8 8 e

8) wifde i wfam fafam)

UX619 (17) 16
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9) qﬁnﬁuql-ammﬁm-nu Az F Tofeafa f gfe wa & sifufean fafen)
o]

10) #emgez =9 & afafEm v soam e
11) e 6.6 F toes 5 [UPAC -m fafam
12) ol ST sty e s Iuam fEafem)

ffvm - B
B Re e wew A 13 @ 21 A |/ gwgen fmed ot G- W e et
(wedw wy 3-3w = #i) [18]

13) CCP =3 = 8§ He @ & T S

14) vpa = 6 sfufen & o 4n Rers s g = 5 o w6

15) forde Fmim 6 Rrofafl wogmm)

16) sewmEie s, FeEgie A i el e 1 areEn =)
17) avggiom 9 st s o)

18) srmrdtfirs suia w7 b enefimesm fen

19) wnifeEse, dfeemes o widen 9 A e dee & e 6 sl
fofam)

10) wiufward qui Hifem;

) C.H.COOH+S0CL—>

ii) CH,COOH __{0).; s s,

(h MY

iii) CHCHCOOH+NH, 4 |
21) ufrda difem: (4 = b)
AR e B FA A
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faem - C

m e fg g v A 22 @ 27 F |/ wyergen el oft 4 wel  oam e
(wel® W 4-3w w1 R1) [16]

22) 1.06 g mL- 5= =8 TfEs #m CH .COOH % 0.6 mL =t 1 #ize w= & wen mn)
3 ot g e & o i 1 amas 0.0205 °C. Sfiw R ) avm & Poare
i v v Fariors e w aftwem S (kf = 1.86 k kg mol™ 3t CH,COOH
1 ATEE FEEE 60 g mol)

23) vy S 3 oS T S IS o et & T AR ah SRt

24) “C % YEamaEia g B 3Ty 5730 94 B1 U g wensn § w4 fafem aw
&1 wadt it gen | 60% C F a1 TR R g w uftwem il

15) wrwemm mEu frgin & smm W aasgn @ [Fe(H,0) [ sdate 3, w=fs
[Fe(CN) |+ witrgadim 2

26) vRER 3 FgiEE 4§ e T & sfufeand ffam)

17) ufemEEs 3 HER i SeE- ey i R S sfuheam e

Q00
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This Question Paper contains 20 printed pages. :
et 4.8 Forto B U Yuzedl Hz Az ol

SLNo.

{CLASS - XII)
Part-A : Time : 1| Hour / Marks : 50 7

Part - B: Time : 2 Hours / Marks : 50

il adn OMR 2ll2ui
ug sl 3 9.
052 (E) Set Mo, ﬂfq:liutiln Paper,
(MARCH/APRIL, 2022) |circle against which is to be
SCIENCE STREAM darken in OMR sheet.

(Part - A)
Time : 1 Hourf [Maximum Marks : 50
Instructions :
1) There are 50 objective type (M.C.Q.) questions in Part - A and all questions

are compulsory.

2}  The questions are serially numbered from 1 to 50 and each carries 1 mark.

1) Read each guestion carefully, select proper alternative and answer in the
O.MLR. sheet.

4) The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O, (D) O. Darken the
circle g of the correct answer with ball-pen.

5)  Rough work is to be done in the space provided for this purpose in the Test
Booklet only.

6)  Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

7)  Use of Simple Caleunlator and log table is allowed, if required.

8)  Signs used in question paper have usual meaning.

1)  Which protein present in muscles? Rough Work
(A) Keratin
(B) Insulin
(C) Myosin
(D) Albumins

UX619 (17) 1 G - 707 (PT.0)
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2)  Which polymer is used for manufacturing conveyor belts? Rough Wark

(A} Neoprene
(B) Malamine
(C) Bakelite
(D)) Teflon

3)  Which is biodegradable polvmer?
(A) Nylon-2, Nylon-6
(B) Nylon66
(C) Nylon-6
(D) Malamine

4) Monomer of Teflonis .
(A) EH==E~CH=G*~.
I
(B) CF,=CF,
(C) CH,=CH-CN

(D) CH,=CH-Cl

5)  Which compound has highest sweetness value?
(A) Aspartame (B) Saccharin

{C) Alitame (I3} Sucralose

UX619 (17) 2
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6) Diamond is which type of solid? Rough Waork

(A) Molecular
(B) Covalent
(C) Metallic

(D) lonic

7) Which is ferromagnetic substance?
(A) MnO
(B) Fe0,
(C) Cro,
(D) WNaCl

8) Which impurity is not added to prepared P-type
semiconductor?

(A) B
(B) As
(c) Al
(D) Ga

9)  Which compound shows Frenkel and Schottky both defects?
(A) AgCl
(B) Ag
(C) AghBr
(D) ZnS

UX619 (17) 3 (PT.O.)
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10) What will be the molality of 10% w/w agueous solution of] ~ Rough Work
NaOH?

(Molecular mass of NaOH=4(g mol™')
(A) 2.78m

(B) 2.87m

(C) 2.5m

(D) 205m

11) What will be the boiling point of 1M urea solution in k unit?
(kb=0.52 k kg mol™)

(A) 373.67
(B) 378.35
(C) 100.52
(D) 105.2

12) Which mixture shows positive deviation from Raoult’s law?
(A) Ethanol +Acetone
(B) Chloroform + Acetone
(C) Phenol + Aniline
(D) Nitric acid + Water

13) Under identical condition which solution has highest osmetic
pressure?

(A) 1 MNaCl
(B) 1MFeCl,
(C) 1MBaCl,
(D} 1M glucose

UX619 (17) 4
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14) What is the potential of hydrogen electrode in contact witha|  Rough Work
solution whose pH is one?

(A) 0.059v
(B) 0.005%
(C) 0.59
(D) 59v

15) How much electricity in terms of Faraday is required to reduced

2 mol of MO into Mn**?
(A) 3 (B) 3
(€ 10 (D) 6

16) On which of the following factor electronic conductance does
not depend?

(A) The nature and structure of metal
(B) Temperature
(C) The number of valence clectrons per atom

{D)} Pressure

17) Which is unit of rate constant for the second order reaction?
(A) Mol LS
B) s
(C) Mol'L5"

(D) Mol?L"§"

UX619 (17) 5 (PT.0.)




18)

19)

20)

What is the slope of graph Ink — %?

(a) -
B) 5
[C} —].Jl:]&
(D) —J;S'SR

Which is incorrect statement for physical adsorption?

(A) Itis not specific in nature
(B) Enthalpy of adsorption is low
(C) Itis reversible in nature

(D) It results into unimolecular layer

CO+H, _x_, CH,OH what [X] here?
(A) Ni

(B) Cu

(€) CwZnO-CrO,

(D) Pt

UX619 (17) 6
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11)

22)

23)

Which is negatively charged sol?
(A) Methylene blue

(B) Haemoglobin

(C) TiO,sol

(D) AsS, sol

Which is dispersed phase and dispersion medium in fog colloid
respectively?

(A) Solid-gas
(B) Liguid-gas
(C) Gas-solid

(D) Gas-liquid

Which is ores of iron?
(A) Siderite

(B) Calamine

(C) Malachite

(D) Bauxite

G- 707
Rough Work

(PT.0)
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24) Which metal is not refined by zone refining method? Rough Work

(A) Ge
(B) Ga
(C)y Si

(D) Sa

25) Which compound has highest basicity?
(A) BiH,
(B) NH,
(C) SbH,
(D) PH,

26) Which compound has pyramidal geometry?
(A) XeOF,
(B) XeF,

(C) XeO,

(D) XcF,

27) Correct formula of mustard gas is
(A) CCILNO,
(B) CICH,CH,SCH,CHC]

(C) CCINH,
(D) cocl,

UX619 (17) 8




18) is use for bleaching of flour.
(A) S0, (B) Cl,
(Cy O, (D) KMnO,

19) Which of the following compound has highest magnetic
moment?

(A) MnSO,
(B) CrCl,
(C) Ni(NO,),
(D) FeSO,

30) Which is transition element?
(A} Zn
(B) Hg
(C} Cd

(D} Cuo

31) Colourof KMnO,is .
(A) Violel
(B) Blue
{C) Green

(D) Red

UX619 (17) 9
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-2) What is the primary and secondary valency of central metalin|  Rough Work
complex. [Co(C,0,), (H,0),]"?

(A) 2and4
(B) 3and6
(C) 3and4

(D) landé

33) [P1Cl, (en),] possess which type of isomerism?

(A) lonisation
(B) Geometrical
(C) Optical

(D) Geometrical and optical both

34) Which is correct relation for high spin complex?
(A) A <P
(B) A,=P
© A>P

(D) AP

UX619 (17) 10




X G-707
15) @ this is which kind of halide? Rous Woek

(A) Arylhalide
(B) Benzylic halide
(C) Vinylic halide

(D) Allylic halide

36) Which of the following is Wurtz reaction?
(A} CHCI+CHCl Naidyahe
(B) CHCI+CHCl Ny
(€) CH,Cl+CHCI _ Notdyer

() C._.Hsf',}+E}H_:C1 Nl eyt

37) How many chiral carbon are in pentan 2,3.4 triol?

(A) 3

(B) 1

11 (®T.0)




G -707
3§) low many sigma and pi bonds are present in DDT respectively? Rough Work

(A) 29.6 (B) 28.5

(C) 27,6 D 275

39) Reduction of which compound gives 2° alcohol?
(A)  Acetaldehyde (B) Acetone

(C) Acetic acid (D) Ethyl Acetate

40) Which product is obtained by oxidation of phenol with chromic
acid?

(A) Benzene
(B) Benzoguinone
(€) Benzoicacid

(D)  Acetophenone

41) Under identical condition which one has highest boiling point?
(A) Prepan-1-ol
(B) 2-methyl propan -2-ol
(€C) Butan-1-ol

(D) Butan-2-0l

UX619 (17) 12
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42) Correct formula of cinnamaldehyde is . Rough Work

H=CH-CHO

CH,~CH,-CHO
(B)

C=C-CHO
(€)

"H~CH=CH-CHO
(D) é

43) Which acid has lowest pKa?
(A) CH,COOH
(B) CHCHCOOH
(C) CH,COOH

(D) CHCH,COOH

44) Which compound give propanamine product by Hoflman
bromamide reaction?

(A) HCONH,

(B) CH,CHCONH,
(C) CH,CONH,

r 1 orLCONH,

UX619 13 (P.T.0.)




45)

46)

47)

Hinsberg's reagent react with which amine?
(A) CH,NH,

(B) (CH,),NH

(C) (CH,,N

(D) AandB both

Which reagent is used in Gatterman reaction?
(A) CuwHX

(B) CHCL+NaOH

© CuXMX

(D) Zn—Hg/HCl

[EL Hl;l]"ﬂjﬂl; T o is rlm_]ur ]."I"DdLI[:L
NO

HI_I: i
© ¢r D) @_N
O
PJ{:II

UX619 (17) 14
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48)

49)

50)

Which one is not polysaccharide?
(A) Starch

(B) Glycogen

(C) Cellulose

(D) Sucrose

What is the chemical name of B, vitamin?
(A) Thiamine

(B) Pyridoxine

(C) Riboflavin

(D) Ascorbic acid

Which is bicyclic base?
(A) A
By T
() C

oy u

UX619 (17) 15
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052 (E)

(MARCH/APRIL, 2022)
SCIENCE STREAM
(CLASS - XII)
(Part - B)
Time : 2 Hours] [Maximum Marks : 50
Instructions :
1) Write in a clear legible handwriting.
2) There are three sections in Part - B of the question paper and total 1 to 27
questions are there,
3)  All the questions are compulsory. Internal options are given.
4) The numbers at right side represent the marks of the question.
5) Start new section on new page.
6) Maintain sequence.
7) Use of Simple Calculator and log table is allowed, if required.
SECTION -A
B Give answer of any 8 questions out of following question no. 1 to 12 as required.
(Each question has 2 marks) 16]
1} Write any four characteristics of ervstalline solid.
2) Asolution of Ni{NO,), is electrolysed between platinum electrodes using a current
of 5 amperes for 20 minutes. What mass of Ni is deposited at the cathode? ( Atomic
mass of Ni=58.7 u)
3) State two differences between molecularity and order of reaction.
4) Explain purification of Zr metal,
5) Explain calcination with illustration.
6) Draw the isomers of [Co(NH, ), (NO,),| complex.
7)  Give conversion: Benzene into diphenyl.
8) Wrnite carbyl amine test
UX619 (17) 16
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9) State the reactions which prove the presence of - ﬁ, — and primary — OH
group in glucose. 9]

10) Write preparation and use of Bakelite.

11) Give IUPAC name of monomer of Nylon 6.6.

12) What is anionic detergents? Give its uses.

SECTION-B

B Give answer of any 6 questions out of following question no. 13 to 211 as
required. (Each question has 3 marks) [18]

13) Calculate packing efficiency in CCP structure.
14) Derive equation of rate constant and half reaction time for zeroth order
reaction.
15) Explain mechanism of micelle formation.
16) Draw the structure of orthophospheric acid, sulphuric acid and perchloric
acid.
17) Explain anomalous properties of nitrogen.
18) What is interstitial compound? Write its characteristics.
19) Write the reactions of formaldehyde, acetaldehyde and acetone with methyl
magnesium bromide,
20) Complete the reactions:
i) CHCOOH+SOCL—
ii) CH,COOH _t)dulRedr
{ury 0
iii) CH,CH,COOH+NH, _& ,
21) Give conversion in three steps:
Nitrobenzene into chlorobenzene

SECTION-C
B Give answer of any 4 questions out of following question no. 22 to 17 as
required. (Each question has 4 marks) [16]

22) 0.6 mL of CH,COOH having density 1.06 g mL"" is dissolved in 1 litre of
water. The depression in freezing point observed for this strength of acid was
00,0205 °C. Caleulate the Van't HofT factor and the dissociation constant of
acid (kf= 1.86 k kg mol-' and molecular mass of CH,COOH = 60 g mol™)

UX619 (17) 17 (RT.0.)
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23} Write reactions oceurring at anode and cathode in dry cell and lead storage cell.

24) The halflife period for radioactive decay of "*C is 5730 years. An archaeological
artifact containing wood had only 60% of the "“C found in a living tree. Estimate
the age of the sample.

25) Explain on the basis of valence bond theory that [Fe(H,0), " is paramagnetic where
as [Fe(CN),]* is diamagnetic.

26) Write the reactions to prepared phenol from Aniline and Cumine.

27y Write Wolff-Kishner and Clemmensen reduction of aldehyde and ketone.

SISIS)

UX619 (17) 18
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(Part-A & Pari - B)
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(SCIENCE STREAM)
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(Part - A)

Time : | Hour]
Yarrudl
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2) sz oo sl g2d qil $9
(A) WA Wele- e w23
(B) A ~4lr-iZln w23l
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(D) et el w23
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(A) 1

(B)
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(A) n,>n,
(B) n,>n,
(C) n=n
(D) n,=n’

CU559(19) 2

G- 708
w s




G- 708
5)  sAR pen wstleed SlRed s s 2 ol 4, , 2 s

(A) el dlr gk .
(B) “lgucl susstl uawe ueld 6,
(C) welua dbhyz wzld 8,
(D) e Beed Wl =iswe 440

6) s el n, 9K B n, WA WA B, dl 20 weel W
[Ehegenuzl 5a sves] szl w4l
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B) (n -ni)e
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(A) v =>v,
(B) v,=v
(C) v<v

@) v,=+2v,

20) <ot wieallsr ol adal e de s (E) e Yesls 3
(B) Hisll 3554 Hateetl Fgnoulia seil o sifue slsusd
=33 Yz %Y Wb O,

1 E
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1 B

P 3%

mim

(C)

m|=

(D)
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Time : 2 Hours| [Maximum Marks : 50
e
1) TEE % e it

2) wFTA % Part-BAdRfremEshem18 279w i

3) et Foram  fan e geend = oo A ol o T el

4) wfgh 3w % s il o §)

5) an feram =2 i w fafam

6) Wl w1 WA HEEn dif)

7)  Trnefl smavawm % AR A Sewgeiet U8 A 2ae w1 I9Ei o uEd §)

n ﬁﬂqmmmlﬂu:;mh;s!ﬁtnﬁmmilm
v % 2 W f)) [16]
1) o i vansil & v s am o 7 ) 2]
2) wmim i vuns o (i) = 53 T =) 12]
3) o & 21 Pt & o e ) 12]
4) =mE-wE? T e i d i 12]
5) m‘?ﬂﬁmﬂ!ﬁﬁmiﬁu&gﬂﬂmﬁmﬁtmw@ 2]
6) TR Y wE e § v e i g e 1w w T am ) 2]

7) 220V, 50 Hz % ac 6@ & 5@ 44 mH =1 973 (F=a=3) <im0 2) ofiom &
g7 W rms  HEd WA w4 12]
8) Torgn waefira wiril 1 =i wm enwfireard fi) 2]
9) wE @ P g & fm e W R om ) 12]
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10) T <adhra fafm % wEm R & o aw g 2]
11) trw-sm F o whm i = o s T o o wiE Je

v Tz fevil 12]
12) NOR 72 % fow 7 ot v oraa aweft feman) 12]

fom - B

4t fig e v wEiw 139 21 F @ feel 6wl &% wft sgem am A
(s v & 3 3 ) 113]
13) A dad % weenr A mi s fge i W g am (3]

14) Frim = v Arom-3raE 230 V A | wim R s 4.6 A anfi am sm
e Fm AR E 2.3 A o wemd f o R o e  ameme 27 °C @At A
ST = T A R o =1.7x10~ °C) 3]

15) wF g8 H 4 om #1 0 T @ T S e, Jil, A A A @ B § | we:
8 ATE S A i foge vl v @ T A vafgm A A 81 TR A % 10 cm TR
T FA "W 1 ST ShiTAD) [3]

16) U= FOrRR §uei faeeh B 8 cm wen W 4 EEE 20 § 39 3EiR =W &
uftd: 50 rad s*' 9w SR x0T & vemas gad g i gu ol 31
T # T sftrmmm A oftem St e e =m W WA T fifm) of
e 10 0wl = v 97 79 =90 A el | g % witen e R e
i [3]

17) a) o soias #4 ¥ 2 vl S awm B wom: 10 cm 39 15 em )
T TR Z0 12 cm B A S0 & S W sadae Jm s
by o vem S Ry A wEa A 15 om 3 W W O TR Een g 27
(AT —F AT = |33 7 o - W A = 1.5 2) [3]

18) =m & Rfad mim § =i it = oom w3 % w6000 A #fv 4000 A 3
waEl % S Gw = 39am i d = 0.1 mm, D = 100 em
ab 6000 A winded % oo w feh sdm e R dim = agh
#ifam)
b) W TR A T g g w S 6wl 3 e & =
umm #m fis s 2 ) 3]
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19) a) =i & fem vfa s & fom 3-sivelt woded 1.40 x10-° m 2vft?
b) TR g A w3 wv v e # sik R 300 K w sitem ofiw

== ngT 2, T o s it T

[K;=1.38 x 10-% S| 3 13]

20) symen sfufEn R w70 12 8 affrn o Frdfm o am e vl & fw

¥ T Bl 9 SR = T v foe wwenai 131
21) i win fwe 3 fom wres uftow i) ok 7@ e o wgm) T (Bam)

3 smzegz (Frta) Steem & wim e i) 13]

frem - C
" A R e w22 @ 27 @ & fell 4 wel & ot sEew aw §)

TEE T E 43w D [16]
22) Torggn fiwe % v, fup & woafiig @ rqh @ (W r >> a) 7 g fmm .

A W 1 Y= % s wen fagaten w faem frwa = o fra [4]
23) Terwaond) (dréfarandter) & fom:

!

a) f‘*=,—‘ W |

b) fogm #= (W) & rnfes wiie = om wE = 92w =)

{ﬁﬂﬂhﬂﬂmm (4]

24) fta (F89) W e M0 AC wieea & fae o whw # A R e o woaed
fom uw | = ow ) e R R e RE m g I (4]

25) wha 3 Brogormam from 3 Rt 6+ ¢ = A + 5 5 TR w0 e Fore o

1 7 Tar T ¥ g & vt W g T o [4]
26) e v grom @ Fram o w0 3t sl (sefm) Tt 6 den &
Freg wom wa st o o) [4]
27) s -faegn i ) eneforem = o § w fagi 6 s R
w1 e -fagn wars % o angeme i wam v [4]
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This Question Paper conrains 20 printed pages. .
(Part oA & Part - B) UH Yyl 2 oz el

S1.No.

Part-A : Time : 1 Hour/ Marks : 50

HelA ada OMR alleni
054 (E) uE 7l 3¢ 8.
Set No. of Question Paper,|
(MARCH/APRIL 2022) fcircle against which is to be
(SCIENCE STREAM) darken in OMR sheet.
(CLASS - XII) 1 9

Part - B : Time : 2 Hours / Marks : 50

(Part - A)
Time : 1 Hourf [Maximum Marks : 50
str 2

1) There are 50 objective type (M.C.0).) questions in Part - A and all guestions
are compulsory.

2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

3) Read each question carefully, select proper alternative and answer in the
O.ML.R. sheet.

4) The OMR sheet is given for answering the questions. The answer of each
guestion is represented by (A) O, (B) O, (C) O, (D) 0. Darken the
circle @ of the correct answer with ball-pen.

5) Roughwork is to be done in the space provided for purpose in the Test Booklet
only.

6)  Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

7)  Students may use a simple Calculator and log-table, if necessary.

8) Notations used in this question paper have proper meaning,

1)

The radius of the nucleus of {] Al is . Rough Work

e | =

(A) R,

B) R,
(C) 3R,

(D) R,

CLS59(19) 1 G-708 (P.T.0.)




2) Nuclear force is acting between
(A) only proton - proton
(B) only neutron - proton
(C) only neutron - neutron

(D} all the nucleons

3) Tritium has a half - life of 12.5 y undergoing beta decay. The
fraction of a sample remain undecayed after 25 y is 3

|

(A)

(B)

b |

I
© 5
©) =

4) Ifn_=number of free clectrons, n, = number of holes then for
pure semi conductors;
(A) n,>n,
(B) n_>n,

(C) n=n,

D) n,=n’

CUS559(19) 2
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5)  When p-n junction is kept in forward bias, y Hough Work

(A) barrier potential increases
{B) current due to majority charge carrier decreases
{C} barrier potential decreases

(D} none ofthe given choices

6) Ifabody conains n, electrons and n, protons, the total amount
of charge on the body is

(A) (n+ni)e

®) (i -n)e

(€) (m,+n)e
D) (n,~n)e

7)  Auniformly charged conducting sphere of 2.4 m diameter has
asurface charge density of 80 pC m™. The charge on the sphere
is mC.

(A) 5.41
(B) 4.51
(C) 145
(D) 45.1

8) An electric field line is a curve drawn in such a way that the
tangent drawn at any point on the curve gives at that
point.

(A) magnitude of the electric field
{B) direction of the eleciric field
{C) both magnitude and direction of electric field

{D) none of the given choices

\ CUS59(19) 3 (PT.0.)
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Gm,m,

9) The dimensions of is

(A) ML'T"A!
(B) M'L'T°A?
(C) M'LTIA™
(D) M'LYT'A"

10) The number of electric field lines coming out of charge ,
keptina vacuum is 1.13=10".

(6,~8.85%10"2 CN-'m¥)
(A) 1mC
(B) 2mC
) 2¢
(D) 1€

11) The electric potential at a distance due to the charge
41077 Cis 4=10* V.

(A) 9mm
(B) 9um
(C) 9ecm
(D) 9m

12) The electric potentials at two points (0, 3) mm and (0, 4) mm
in the region in which electric field E = 20i NC-'are V, and
V, respectively then,
() V>V,
B) V,<V,
(C) V.=V,
(D} None of'the given choices

CUS59(19) 4
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13) Anelectron is accelerated by a potential difference of AV =2 volts, Rough Work
The energy gained by it would be eV,

(A) leV¥
{(B) 2eV
(C) lieV
(D) 0.5eV

14) Two capacitors when connected in series, their equivalent
capacitance i 3uF and when they are connected in parallel their
equivalent capacitance is 16uF. Their values are respectively

uF and uF.

(A) 8 16
(By 16,1
(C) &8
(D) 4,12

15) Which of the following physical quantity has unit m*V-'s"'?
(A) clectric field
(B) drift velocity
(C) mobility

(D) resistivity

16) The value of the temperature co-efficient of resistivity (o) is
for metals.

(A) positive
(B) negative
(C) zero

(D} infinite

CU559(19) 3 (P.T.0.)
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17) A steady current flows in a metallic conductor of non-uniform Rough Werk
cross-section. Which of the following quantities is constant
along the conductor?

(A) current density
(B) current
{C) electric field

(D) drift speed

18) nresistors each of equal value R combine to get maximum and
minimum effective resistance. The ratio of maximum effective
resistance to the minimum effective resistance is

(A) o
(B) n

© -

|
D) =

]

19) For a cyclotron, if v_is the frequency of the applied voltage
and v_is the cyclotron frequency then the resonance condition
iS +

(A) v,>v,

®) v,=v,

C) v<v

D) v,= 2y,

CUS59(19) 6
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20) Charge particles with the speed can pass undeflected Rough Work
through the region of crossed electric field (E) and magnetic
field (B) that serve as a velocity selector.

| E

{A) 3B
(B)
-
(C) B

(L)

m|=

21) A solenoid of length 0.5 m has a radius of | em and is made up
of 1000 turns. It carries a current of 5 A, The magnitude of the
magnetic field inside the solenoid is T.

(A) 2mx 107
(B) mx107?

(€) 3mx 107
(D) 4n = 10°

21) Experimentally. one finds that the magnetisation of a

paramagnetic material is proportional to applied
magnetic field and proportional to the absolute
temperature.

(A) inversely, inversely
(B) directly, directly
(C) directly, inversely
(D} inversely, directly

CUS59(19) 7 (P.T.0.)
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23) A short bar magnet placed with its axis at 30° with a uniform Rough Work
external magnetic field of 0.25 T experiences a torque of
magnitude equal to 4.5x107 ], The magnitude of magnetic
moment of the magnet is JTH,

(A) 0.18
(B) 0.36
(Cy 0.72
(D) 0.54

24) A bar magnet is of length (size) /. The ratio of its equatorial
field and axial field for the same distance » (where r > = [)
15

(A) 2
(B) 1
(C) 0.5
(D) O

25) A conducting coil having number of turns N and cross section
area A is kept in such a way that its plane remains perpendicular
to the uniform magnetic field B. Now, if the number of tumns
of the coil is made double then the magnetic flux linked with
coll =

NBA
N

(B) NBA
(C) N'BA
(D) 2ZNBA

CUS5%19) 8
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26) Current in a circuit falls from 5 Ato 0 Ain 0.1 s. Ifan average Rough Work
emfof 200 V induced, the self-inductance of the circuit would
be H.

(A) 2
(B) 1
(C) 3
(D) 4

27) Faraday'slawgives  ofinduced emf.
(A) only magnimude
(B) only direction
(C) both magnitude and direction
(D} none ofthe above

28) An impedance of LC circuit is
(where X.> X )

|
e bl
&) @ C .

1
F =4 —
{E] a4+

cy Z= -;:—E]-&JL

® 2=(%) ~(ary

CUS55%9(19) 9 (PT.O.)




29)

30)

il

32)

IfP, is an output power and P, is an input power of a real step-
up transformer then,

{A:I Pu- e F1
) P =P
{C] PII:l 5 F.1

(D) P.=42P

The power factor at the time of resonance is
(A) 1

(B) 0

(C) w

(D) 0.5

An inductive reactance of an inductor is

(A) wC

B) —r

=
L

D) ol

(C)

_ current is obtained due to change in the electric field.
{A) Displacement

{B) Conduction

(C) Eddy

(D) Unidirectional

CU559(19) 10
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33) A light of an energy 6.48x10° ] is incident normally on

nonreflecting surface. The momentum imparted on the surface
i5 MN-s.

(A) 6.21%107
(B) 1.26%10°
(C) 21.6%10%
(D) 2.16x107

34) Which one of the following electromagnetic wave is of
minimum wavelength?

{A) X-mys

(B) Gammarays
(C) Ulraviolet rays
(D) Infrared

35) The refractive index of medium-3 with respect to medium-2

=
My

ﬂ"

(A) ny

(B) ny *n,

o Y

{D) n!3 2 F'.I':“

36) A magician during a show makes a glass lens with refractive
index n = 1.5 disappear in a trough of liquid. The refractive
index of liquid =
(A) 3.0
(B) 1.5
(C) 0795
(D) 0.15

CU559(19) 11
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37) The focal length of objective lens and eyepiece is f, and £ Rough Work
respectively. Magnifving power of the telescope = g
(A £-F
(B) L+

(C)

Sl

(D)

B

38) When light rays undergoes internal reflections inside
a raindrop a secondary rainbow is formed.
(A) 2
(B) 1
(C) 3
(D) 4

39) An object is placed at 15¢m in front of a concave mirror of
radius of curvature 20cm. The image distance would be cm.

(A) -28
(B) -22
(C) -30
(D) -32

40) When the width ofan aperture is a and the wavelength is ), for
a distance equal to ray oplics is a good approximation.

A
(A) =

(B)

(<)

(D)

B, a R MR

CUS59(19) 12
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41) The number of interference fringes occurring in the broad Rough Wark
diffraction peak depends on the ratio s

® 5

(B)

B | &

(<)

B |5

a
(D) oy
Where o= distance between two slits

a = width of slit

42) Unpolarised light is incident on a plane glass surface. For an
angle of incidence the reflected and refracted rays are
perpendicular to each other? Refractive index of glass = 1.5,

(A) 47°
(By 37°
(C) 57°
(D) 67°

43) Which one of the following sentence is false?
(A) All bright interference fringes are of equal intensities
(B) Interference fringes are of equal thickness
{C) The central diffraction fringe is of maximum intensity
(1) Diffraction fringes are of equal thickness

CUS59(19) 13 (PT.0.)
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44) Width ofaslitis a. The focal length of the lens kept just along |  Rough Work
with the slit is /. The light of wavelength A is made normally
incident on the slit. The size of the central maximum on the

screen is
gy
(A) 7
L
(B) fi
Ja
© =
fA
(D) p

45) The slope of the graph of the stopping potential (V) —
frequency (v) for the photoelectric effect is equal to .

(A)
(B)

ﬁ“'ml:..

(<)

|

h
D)y 3=

46) If Ax and Ap are the uncertainties in the specification of the
position and the momentum of an electron respectively, then
according to Heisenberg's uncertainty principle Ax- Ap= :

h
(A) =
(B &
2T
(C) =3
i
(D) B

CUS59(19) 14




47)

48)

49)

50)

Photons are electrically.
(A) negatively charged

(B) positively charged

(C) neutral

(D) some time positively charged and some time negatively

charged

3
The dimensions of m 5
(A) ML'T®
(B) M°LtT®
(C)y ML

(D) MILOT®

The energy required to excite an electron of the hydrogen atom
from its ground state to second excited state is eV.

{A) 12.09
(B) 10.2
(Cy 13.6
(D) 340

Which one of the following spectral line lies in Ultraviolet
region?

{A) Balmer series

(B) Lyman series

{C) Paschen series

(D) Pfund serics

CUS59(19) 15
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(MARCH/APRIL 2022)
(SCIENCE STREAM)
(CLASS - XII)
(Part - B)
Time : 2 Hoursf [Maximum Marks : 50

Instructions :

1) Write in a clear legible handwriting.

2) There are three sections in Part - B of the question paper and total 1 to 27
questions are there.

3) Separate instruction is given in each section. Read it carefully and answer
accordingly.

4) The numbers at right side represent the marks of the guestion.

5) Start new section on new page.

6) Maintain sequence.

7)  Studenis may use a simple Calculator and log-table, if necessary.

SECTION-A
B Answer any eight guestions from the following question No. 1 to 12 as directed.
{(Each of 2 marks) [16]
1) Write any four properties of electric ficld lines. [2]
2)  Derive an expression for capacitance of the parallel plate capacitor. [2]
3) Wriltec only two statements for Kirchhofl's Rules. 2]
4) Explain Biot-Savart law in brief. (2]
5) Derive an expression for the periodic time of simple harmonic motion of an
electric dipole kept in a uniform magnetic field. 1Z]
6) Explain in brief the phenomenon of self-induction, Derive the formula for
self-induced emf. 12]
7)  A44 mH inductor is connected to 220 V, 30 Hz ac supply. Determine the rms
value of the current in the circuit. 2]
8) Write any four characteristics of electromagnetic wave. 12]
9)  Derive Brewster's law in the case of polarisation by reflection, 2]
10} Write any four points for photon picture of electromagnetic radiation. 2]
CUS59(19)
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11} Explain atomic number and atomic mass number of the daughter element in

the case of Alpha decay, Also write one example. 2]
12) Draw the logic symbol and write Truth table of NOR gate, 2]
SECTION-B
B Answer any six questions from the following question No, 13 to 21.
(Each of 3 marks) [18]

13) Derive an expression for the electric field due to an infinitely long straight
uniformly charged wire. i3]

14) A heating element using nichrome connected to a 230 V supply draws an
initial current of 4.6 A which settles after a few seconds to a steady value of
2.3 A, What is the steady temperature of the heating element if the room
temperature is 27 °C. [a =1.7x10" °C™] 13]

15) Two long and parallel straight wires Aand B carrving currents of 8 Aand 5 A
in the same direction are separated by a distance of 4 cm. Estimate the force
on a 10 ¢cm section of wire A. [3]

16) A circular coil of radius 8 cm and 20 tums 1s rotated about its vertical diameter
with an angular speed of 50 rad s in a uniform horizontal magnetic field of
magnitude 3= 10~ T. Obtain the maximum and average emf induced in the
coil. If'the coil forms a closed loop of resistance 10 £2, calculate the maximum
value of current in the coil. 13]

17) a) The radii of curvature of the faces of a double convex lens are 10 cm
and 15 cm. Its focal length is 12 em. What is the refractive index of
glass?

b) A convex lens has 15 cm focal length in air. What is focal length in
water?

(Refractive index of air-water = 1.33 and Refractive index of air-glass =1.5) [3]

18) A beam of light consisting of two wavelengths 6000 A and 4000 A, is used to
obtain interference [ringes in a Young's double-slit experiment.
a)  Find the distance of the third dark fringe on the screen from the central
maximum for wavelength 6000 A.
by  What is the least distance from the central maximum where bright
fringes due to both the wavelengths coincide?

i Distance between two slits =0 | mm. Take D = 100 cm) 13]

CUS59(19) 17 (P.T.0.)
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19) a) Forwhat Kinetic energy of a neutron, will the associated de - Broglie
wavelength be 1.40 =10-""m?
b) Find the de-Broglie wavelength of a neutron, in thermal equilibrium

3
with matter, having an average Kinetic energy of 7K, T at 300K,

[K,=1.38 = 10 Sl unit] [3]
20) What is nuclear chain reaction? State any two difficulties arising against
sustaining a chain reaction. Also write the necessary precautions. 131
21) Draw the circuit diagram of a full-wave rectifier. Explain full-wave
rectification in brief, Also draw input-output waveforms. 13]
SECTION-C
B Answer any four questions from the following question No. 12 to 17.
(Each of 4 marks) [16]
22) Derive an electric potential at a distance r (r >> a) due to an electric dipole.
Also write potential on the axis and in the equatorial plane. 4]
23) For potentiometer derive
f_h
a) g i
b) Formula for internal resistance of the cell.
{Draw necessary circuit diagrams) [4]

24) In the case of an AC voliage applied to an inductor, derive formula for an
electric current 7 at time £. Also, derive an expression for an average power
over a complete cycle. 4]

25) Derivei+e=A+ 5 for a triangular glass prism. Also write the condition for
the angle of minimum deviation. Derive the formula for the refractive index
of the material of the prism. 14]

26) Derive the exponential law for radioactive disintegration. Also draw the decay
CUurve. [1]

27) Which characteristics of photoelectric effect are not explained by the wave
nature of light. Explain Einstein’s explanation. [4]
G O O
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4)

5)
)

L el oA L daasll useen 50wl 8. v v usl sleua 8.
el s wiva 18l 50 8. wA B el 1 3@ B

sineyels g5 el wownt sdl awell Feey wale sdld oMR allzal sreus
@i,

oy, et wlld OMR wasul % d W -R wil (A) O, (B) O, (C) O
(D) O =l B, A Wl @ et el QY AL Bsey va-t admd eladqell
el vz @ s3eu il

% sid dq 2 22 ops@eai o ildl e R s 24l

wetsdl Guardl srugll cusrnl sl W W2 A A OMR Wi widl
MM vl 2edl

1)

1)

wldnivsl 561 58 ol g ug 7 % sid
(A) sy SR
(B) #2luaadl x1G
(C)  Uelslatizy

(D) Sul&y

sl WAl glgd i secl ool cul s L .
(A) T =5
(B) ‘L' 416
(C) '8 =use
(D) K sir

BT369(20) 1 G-709 (PT.0)



3) s e bea ad Bl de-2e 89
(A) 25
(B) 43
(C) 34
(D) 48

4)  pBR 322 %i Bam HI %l s 30 540 20 97
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(B) Cry 1 Ac %A Cry 1 Ab
(C] CrylAe

(D) Cry 1 Ac = Cry I Ab

10) ielluzs 2 Frasueedl 58 verani wduw, 2ovdz s wd
sAsIY B9
(A) Ereilse
(B) [Heerlsan

(C) rrsie Bias
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(B) % MHbA
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et No. of Question Paper.
(MARCH/APRIL, 2022) circle apainst which is fi bel
SCIENCESTREAM ilarken in DMR sheel.

(CLASS-XII) 0
Part-A ; Time : 1 Hour/ Marks : 50 2

Part - B Time : 2 Hours ' Marks : 50

(Part - A)
Time : | Hour/ IMaximum Marks : 50
Instructions :
1) There are 50 ohjective type (M.C.0Q.) questions in Part - A and all guestions

are compulsory,

2)  The questions are serially numbered from 1 to 50 and each carries 1 mark.

3} Read each question carefully, select proper alternative and answer in the
(O.MLR. sheet.

4} The OMR sheet is given for answering the questions. The answer of each
guestion is represented by (A) O, (B) O, (C) O, (D) 0. Darken the
circle g of the correct answer with ball-pen.

51 Rough work is to be done in the space provided for this purpose in the Test
Booklet only.

6)  Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

1)  Which of the following species become Extinct by over Rough Work
Explontation”

{A) Clarias gariepinus
{B) Stellar's sea cow
(C) Pelycosaurs
(1) Therapsids
2)  When responses are not limiting the growth, plot is

in population?
iA) T shaped
(B} 'L’ shaped
{(C) 'S shaped
{Dy 'K’ shaped

BT369(20) I G- 709 (PL.O.)
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3) How many biodiversity Hot spot in the World? Rough Work
(A) 25
By 43
() 34
Dy 48

4)  Where does the restriction site of Bam HI is present in
pBRA22?

(A) amp*
(B) o
(C) 1ei®
(D} rop

8)  Which of the following chain is not palindromic nucleotide
sequence.

(AY S-GAATTC-3
Y-CTT AAG-¥
(B) §-AAATTT -2
F-TTTAAA-%
iCy ¥-GTCGTC -V
Y-TAGCAG-5
M §-GACGTC -¥
F-CTGCAG-%

6) Which bond linked poly peptide chain 'A" and 'B' in
formation of Insulin?
(A) Peptide bond
(B) Phosphodiester bond
i€y Glycosihe bond
(D) Disulphide bond

BT36% 20} 2
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9)

10)

In which diagnosis of which disease Human protein
(2 — 1 Antitripsin} is utilized?

{A) Emphysema

{B) Phenylketoneuria

{C) Cistic fibrosis

(D) All of the given options

Which of the following system is not present in Bioreactor”
(A} Light deliver sysitem

(B) Oxygen deliver system

(C)  pH control system

(D) Foam control system

Which gene Encodes the protein for control the cotton ball
worms?

(A) CrylAb
(By CrylAcand Cry Il Ab
(Cy Cry 1 Ac

(D) Cry | Acand Cry I Ab

In which step of polymerase chain Reaction, primer's
attached to Template chain?

(A) Denaturation
iB) Extension

(C) Anncaling

(D1 Centrifugation

Capacity to generate a whole plant from any cell / Explani
is called

{A) Somaclones

(B) Micropropagation

(C) Toupotency

(D) Conjugation

BT36%20) J
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12) What is indicated by AUG?
{A) Initiator Codon
(B) Non scnse Codon
() Degenerate Codon
(D} Stop Codon

13) In which Mammal ¢velic changes seen during
Reproduction only?

{A) Monkey

(B) Apes
(C) Deer

¥ Human

14} Ploidy occurs in Egg Cell is and in Endosperm
is

(A) Haploid, Diploid
(By Diploid, Triploid
(C) Diploid, Haploid

(D) Haploid, Triploid

15) Which of the following is an example of dioecious plant?
(A) Coconut
{B) Papava
iC) Cucumber
(D) Mustard

16) Residual persistent Nuccllus in Sced is called
iA)  Perisperm
(B) Colewrrhiza
(C) Penicarp
(D Coleoptile

BT369(20) 4
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18}

19}

2
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Fertilization takes place in ___ of Human,
(A)  Infundibulum

(B) Uterine Cavity

(C) Ampullary Region

(D) Vagina

Which hormones produced in women only during
pregnancy?

(A} HOG, Estrogen. Progesterone
{B) Relaxin, Estrogen. Cortisole
(C) HPL, Cortisole, Prolectine
(D) HCG. HPL, Relaxin

Hormone Releasing IUDs is
{A) Multiload 375

By Co'T

(C) LNG-20

(D) Lippes loop

In which Technology the Embryos with more than &
blastomeres transferred into the uterus 1o complete its
further development.

(A ZIFT
(By TUT
(Cy GIFT
(D) 101

L
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21) Select the comect option given following. Runigh Work

(A) MTPs are considered Relatively safe during upto 12
weeks of pregnancy

(B) Vaults are used by Male in barrier method of
contraceptive

(C) All sexually transmitted disease are completely
curable

(D) Second trimester Abortion are much more safe than
upto 12 weeks

22) In which period of menstrual cyele, chances of fertilization
are very high in women?
(A) 1-5days
(By 10-17 days
(C) 5- 10 days
(D) 21 - 28 days

23) What will be Anticodon on -RNA, il DNA template having
ATG

{A) AUG
(B) AGU
C) UAC
(hy UCA

24) Thalacemic Linked gene HBAI and HBAZ present on
which chromosome of each parent.
(A 11" Chromosome
(B) 18" Chromosome
(Cy 16" Chromosome

(D} 14% Chromosomae

25) Which is the diagnostic test for typhoid?
(A) Widal Test
(By ELISA Test
(C) W.B.Test
(D) PSA Test

BT 369(20) 6
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[f person having 45 chromosomes with X0 chromosomal
abnormality than it is consider as which disorder?

(A} Super female

(B) Kline Felter's syndrome

(C) Down's syndrome

(D) Tumer's svndrome

Which types of Abnormalinies seen in given chart

RO O
K

(A) Autosomal dominant

{B) Autosomal Recessive

(C) X-Linked dominant
(D) X-Linked Recessive

What do "X" and Y~ indicate in the given figure?

"y

(A) X =Embryo sac, Y = Funicle
(B) X = Nucellus, ¥ = Micropyle
(Cy X=Hilum. ¥ = Embryo sac

(D} X = Funicle, ¥ = Embryo sac

BT36%20) 7
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29) Which aguatic plant pollinated by Insect or wind? Hough Work
(A) Vallisneria
(B) Zostera
iC) Hydrilla
(D) Waterlily

30) Which gases are taken in closed flask in 5. L. Miller
Experiment?
{A) CH,.HO,NH_ H,
(B) NO, H..NH,.CH,
(C) NO.HOCH.H

(D) CH, NH_.H,0, H,

31} Brain capacity of Homo erectus is
(A) 650-800C.C.
(By 1400 C.C.
(Cy 900C.C.
(D) 950- 1000 C.C.

32) According to central pollution control board, which size
of particles are responsible for causing greatest harm 1o
Human Health?

(A} 2.5 Micrometer
(BY 2.85 Micrometer
(Cy 295 Micrometer

Dy 3.25 Micrometer

e
e
o

Full Name of DDTis ___ -
(A) Dichloro Dimethyl Tn chloro Ethane
(B) Dichlore Diphenyl Tri chloro Ethane
(C) Dimethyl Dichloro Tri chloro Ethane
(D} Dichloro Diphenyl Tri chloro Methane

BT369(20) "
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38}

In which of the following Ecosystem shows inverted
pyramid?

{A) Forest Ecosysiem

(B} Ocean Ecosysiem

(C) Grassland Ecosystem

(D) Desent Ecosystem

Zooplankton included in which Trophic level?
(A} Pramary Producer

(BY Secondary Consumer

(C) Primary Consumer

(D) Tertiary Consumer

Which of the following is key material in between primary
treatment and secondary treatment in STPs?

(A} Flocs

(B) Primary Sludge

{(C)  Effluent

(D) Activated Slhudge

Trichoderma Fungus is used

(A) n treatment of diseased plani

(BY m controlling of insect larva

(C) in controlling of Aphids and Mosquitoes

(1) i narmow spectrum insecticidal applications

Which Enzyme is used as clot buster for removing clots
from the blood vessel of patients?

{A) Pectinase

(B) Protease

(C)  Streptokinase

(D) Nuclease

BT36910) 9
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39) Select the correct option given following.

Column - A Column - B
(i) Streplococcus P - Acelic Acid
(i} Aspergillus miger | Q - Butyric Acid
(iti) Clostridium R -  Sireptokinase
butvlicum
{iv) Acetobacter Aceti | § - Citric Aad

(A) (i-P), (-0 (i-R)(iv-5§)
(B) (i-R), (ii-5). (iii-Q), (iv-P)
(C) (i-0Q), (i - P), Gii - R), (iv - §)
(D) (i-8). (i - R), (iii - P), (iv-Q)

40) Which of the following Example is Convergent Evolution?
(A} Ewe of the Octopus and Mammals
(B) Root of Sweet Potato and Stem of Potato
(C) Flippers of Penguins and Dolphins
(D) Brain and Hean of Vertibrates

41) If Population Density at 't' time is ‘N, then on time 't + 1
population density will be

(Ay N, =N-[B+1-(D+E)
(B) N_ =N+[B-1)+(D+E)]
(C) N, =N+[(B+D-(D+E)]
(D) N, =N4+[B+l-(D-E)

42) Culturing of Honey bee is called
(A} Pisciculture
(B Apiculiure
IC) Sencullure

(D) Floriculture

BT36%20) 10
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43) Which of the following organ is primary lymphoid organ? Rough Work
(A) Bone mamow
(B) Thymus gland
(C) Lymph gland
{3} Bone marrow and Thymus gland both

44) Dmugs obtained from Acetylation of morphin is
(A) Coke
{B} Charas
(C) Heroin
(D) Hashish

45) In 2000. Maize hybrid that had twice the Amount of which
Amino acids?

(A) Arginine, Lysine
{B) Tyrosine. Lysine
{C) Luocine, Tyrosine
(D) Lysine, Tryptophan

46) Example of Trematode parasite is
(A) Plasmodium
(B} Human Liver Fluke
(C)  Ascaris
(D) Wuchereria

47) Maximum Number of species of major taxa of invertibrates
Representing global biodiversity is

(&) Molluscs
(B Annclids
() Crustaceans

(D) Insects

BT369(20) 1 (P10
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48) What indicate "X’ and 'Y n given diagram? Rough Work
. o= [_? Template Strand e i
3 . 5
Y X
3 3

{A) X =Promotor, ¥ = Coding Strand
(B) X = Terminator, Y = Promotor
(C) X = Promotor, Y = Terminator

(D) X = Coding Strand, Y = Terminator

49) Frequency of Heterozygous gene in Hardy Weinberg
principle is represented by

(Ay p
(B) 2py
iCy o

Dy A°

50) Which of the following option is odd for high altitade
sickness?

(A) Atmospheric pressure is low at high Altitude

{B) The body compensates low O, availability by
increasing Red blood cell production

(C)  Insufficient availability of O, for body

(D) The body compensates low O, availability by
increasing the binding Affinity of Haemoglobin

BT369(20) 12
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(MARCH/APRIL, 2022)
SCIENCE STREAM
(CLASS-XII)
(Part - B)
Time : 2 Hoursf [Maximum Marks : 50
1} Write in a clear legible handwriting.
2)  There are three sections in Part - B of the question paper and total | to 27
yuestions are there,

3) Al the guestions are compulsory. General options are given.
4)  The numbers at right side represent the marks of the question.
5)  Start new seclion on new page.
6}  Maintain sequence,

SECTION - A

B Answer any 8 questions from the following Question No. 1 to 12. Each
question carries 2 marks. 116]
1)  Explain - Sexuality in plants.
2)  Explain the structure of microsporangium.
3y Explain intra uterine devices (IUD).
4)  Write short note - Pleiotropy.
3} Explain - Transcription unit.
6) Explun the discase and their symptoms caused by Haemophilus
mfluenzae.

7}  Give the role of microbes in the production of biogas.
8) Explain - Selectable marker.
9} Explain in bref - Population growth. {Diagram is not necessary)
10) Explain the primary productivity in ecosystem.
11) Explain - Rivet Popper hypothesis.
12) Explain biological magnification in aquatic food chain, (Diagram is not

NCCESSary )
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SECTION - B

B Answer any 6 questions from the following Question No. 13 to 21. Each
yuestion carries 3 marks. [18]

13) Explain - Parturition and Lactation,

14) Explain - Experiment of Matthew Meselson and Franklin Stahl's. {Diagram
15 noL necessary)

15) Explain - Adaptive radiation. (Diagram is not necessary)
16) Explain - Prevention of AIDS.
17} Desgribe - Out breeding.

18) Explain the role of microbes in the production of chemicals, enzymes and
other hioactive molecules.

19) Explain isolation of genetic material (DNA). (Diagram 15 MOt necessary )
20) Explain the succession in plants. (Diagram is not necessary)

21) Explain - Ex - situ conservation.

SECTION-C
B Answer any 4 questions from the following Question No. 22 1o 27. Each
question carries 4 marks. |16]

22) Draw neat and clean diagram of sectional view of female reproductive
system and describe uterus.

23} Explain sex determination in honey bee with diagram.

24) On the bases experimental proof - Explain with diagram that DNA 1s
genctic malerial.

25) Explain cloning sites. (Diagram 1s not necessary )
26) Explain mutualism with examples.

27) Explain Innate Immunity in details.

o iir
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